Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

0,785 x 0,001

1,258 = 0,001

9,844 0,001

3,135+0,001

9,398 x 0,01

5,360,001

6,581 x 0,01

3,177 +0,01

0,389--0,001

7,138 x 0,001

2,364 0,001

2,118=-0,001

1,444 0,001

9,564 % 0, 1

9,312 x 0,01

6,6+0,1

5,495+ 0,01

8,611=0,01

6,886 x 0,001

6,498 0,001
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Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

0,785 x 0,001
0,000785

1,258 0,001
1.258
9,844 + 0,001
9.844
3,135+0,001
3.135
9,398 x 0,01
0,09398
5,360,001
5.360
6,581 x 0,01
0,06581
3,177 +0,01
317,7
0,389+ 0,001
389

7,138 x 0,001
0,007138

2,364 0,001
2.364
2,118+0,001
2.118
1,444 20,001
1.444
9,564 x 0, 1
0,9564

9,312 x 0,01
0,09312

6,601
66
5,495 0,01
549, 5
8,611+0,01
861, 1
6,886 x 0,001
0,006886
6,498 = 0,001
6.498
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